What is the value of Convert between these You have £30 to pay for

the 3 in each number? | standard units of time: three items. They cost
2613 874 = 4 minutes = e seconds ‘5257, ‘E618 and 'E935

S : How much change should you

540 minutes = ....occveveeneen. hours g Y
43,782912 = . . get back?
OUPS = oveveerisennene ays

5,612,345 =
5 436 487 = 35 days = .o weeks

T 4.5 years = ..o, months

The temperature is -9°C.
It rises by 6°C, what is the

temperature

i&:::zr;u tr:;:: si:mpr'ope.r' fractions into 5 0 0 >
27 0000 >
6
15
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The temperature is 5°C. It
drops by 8°C, what is the
temperature

2 500000 >

What number is shown
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